M. Munenkosa, O. Hlupokas. «Maremarukay, Ne 17/2000

CoeauHnTe nocrnegoBaTenbHO TOYKMU,
KoopaMHaThl KOTOPbLIX Y3HaeTe,
peLUVB BCE YpaBHEHUS:

1. 6x+10=4x+12 (x; 3)
2. Tx+25=10x+16 (x; 6)
3. 3y+16=8y-9 S;p)
4. 046y—7)=0,53y+7) 5 p)
5. 42-x)=72x—-4) (x; 8)
6. 32x-1)+7=4 (x; 6)
7. Sy—-T7=11+2y -Ly)
8. 96-(2,6—x)=4 (x; 8)
9. 1,7-0,6y=0,3-0,4y (-6;p)
10. 17 -4x=5—-6x (x;5)
11. 2,8-32x=-4,8-5,1x (x; 6)
12. 0,2(5x-2)=0,32x-1)-0,9 (x;3)
13. 2y—1,5(p-1)=3 (1;p)
14. 1-5(1,5+x)=6-7,5x (c; —4)
15. 3y—18=8y+ 17 “4;y)
16. 4(1 —0,5x)=-2(3 +2x) (s =7)
17. 5x+27=4x+21 (c; —4)
18. y—15=4(3-2y) (=2;»)
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1. 6x+10=4x+12 (x;3)
2. Tx+25=10x+16 (x; 6)
3. 3y+16=8y-9 Sy
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